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The one performs Chalitzoh for both of them  — 370w v 17N

OVERVIEW

The case here is where two people (7237 and 72 [not related]) were wipn two
sisters (78?1 917) and we do not know who married which sister. J2187 and 73 both
died childless. 73 has one brother ("wX), while 723%1 has two brothers 121 "wnw. The
rule is that TR is first y211 to both sisters,” while regarding 1wnw and *12, one
(1wnw) performs 7¥°51 on one of the sisters (7r17), and the other brother (%) may
be 02n the other sister (7X?). Our MO explains the necessity of the first set of
nm°om.

= 021 AN \DIN TANR DY 219N TNNN 3YWH1929
The explanation of 7187 (the one) is the one who is a single brother (namely
7wX the brother of the deceased 73). And of the two brothers of 1217 (namely wnaw
"), one performs 573°51 on one of the sisters (?r17), and the other brother can be

22 the remaining sister ([7X%%] who did not have 71%°%11 the second time). The X3 continues -
- 312735 7Y XINND RPNT

‘And only if there is 773°>17 and afterwards 212%°, is the 02’ permitted -
- A5M YD) AT AN NI NN DIV P13 /N 39135 970 579NN ¥1PN3D XINY ‘W9

The explanation of the phrase, "m12° 777 y91°n 17" is that the single brother
("wR) performed mxv»n first on both sisters, and then one (1?) of the two
brothers (wnw or M?) was 22»» (7X?) after his brother (1wnw) performed 735%m

(on 5mM), for in any case the remaining sister (7X?) is permitted to him (%). maoin

continues to explain why nx? is permitted to 17 (in the last step) -
- IPOTN YDA PAR TYINT 113 NIMNX NPOY DT 1IN 12 DN SNPIZTY PAN 9N INT

For if s™7 brother 1wnw performed ;73517 to 1npIPs, so therefore "% is permitted

! This nooin is referencing the X713 on (the top of) ¥,21.

2 Each one of the sisters may have been s'73 wife, so neither can marry unless they are freed from their 7P to WX
(s'72 brother). By giving them 7%°%11 it is permissible for s'73 widow to remarry, except we are not sure who is s'73
widow.

3 This w7 of MoOIN appears to be exactly like (817 71"7 X,21) "W, so perhaps it should read o7w1pPR 5.

4 The word 'w1°0' here is excluding the rejected w11’ that is mentioned at the end of this maon. See footnote # 11.

5 At this point (after qwx was v both sisters) there is no more 7p°r to WX, and only one sister has a 7p>1 to NWwnaw
171 (except we do not know which one).

® We are now assuming that 9117 was s"J21%7 wife and she requires 7¥°71 from NWw»w (or *17); she is a 7PIPT to them,
and once she received n1%>2n from NYnw, her sister 782 (who was s'73 wife) has no more 771 to anyone, for WK gave
her 1%°%1 already, therefore *Y2 can marry her as a wife (not as 012°).

7 However before Wwaw gave nx°5n to 917, it is not permissible for "% to be 7X? 0™ for perhaps 717 was 12187 wife
and m1 is apIP1 to 12 (as well as to 1wnw), and 132777 it is not permitted to marry WNPIPT MR,
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to marry her sister (7X?), for since his brother (1w»w) performed 391 (on 21M),
the mp1, that 5r11 had on "% expired; it exists no longer .

- 1PYPT DAY AT YD DN BINPIPTY YN NY N
And if 7w did not perform PPt x5, so therefore this "% is PPt 23”

the wife of his brother j2187.°
= NYW979 1MNPIPT MNN IND PRY PN NYOYTN INNRD 199X D2YN )19 THN 13929 DAN

However (it is not permitted) for one (»7) of the two brothers (™2 1Wwnw) to be
TR @2 even after his brother vnw performed 7x°%1 on 1M, so there is no

concern of PPt NR as I explained; this alone-
= NHNAPHNY 1A YNNI NIIN JIINYY 27191910 NDN NDT 19999 290U XY

Is not permitted, for since the single brother "wX did not give 173°»n1 to both

sisters, there is concern regarding this 7X> who is n»2%n% to "1, that -
= ANYON NV PIYY NN ¥)95 NN N¥MNI 1IN HY 1NN 1T NIY

Perhaps she (7xY) is the 723v of the single brother WX (she was s"7x wife) and if
Twk did not give her 7%°%1, so it turns out that when "> marries 17X it is possible
that he is meeting up with a Py 723 without ;72%%m, which is forbidden.

mooIn explained the phrase *m2° 97 y9rn X7 to refer to the very first 7%°%1 by WK to the two
sisters X1 77, MooIN concludes -
- 3935 9779 XINM RPITT HYAaY 139810 N9

But we cannot explain the phrase of '>212% 27 Yo% 817" -
=INPIPT MNNA PI9 NI4T DIVN XY NIOIN AN DIIYUN IND

To be referring to the two brothers of 12187 that 12wnw first performs 17%°%1 on %m0
and only then can "% be nX? 02»», however it cannot be done in the opposite
order that "% is X% 02»n before 1Wwnw is 210 v, for there is the concern that

perhaps "% will meet MRt NIAN, this is not the correct interpretation of 7m yorn XpIT
M -
$19VNVY 2X8Yr9N NNT

8 We are now assuming that 11 was not s"J21 wife, but rather s'73 wife, so she is not 7T to 1WaY or 1.

% The reasons X2 may be forbidden to M are (a) she is a W% An2 (without 7¥°7M), or (b) she is WMPPT MINX.
Problem (a) was removed by WX giving 7%°21 to both sisters (this is the w17°n of the X9°0). Problem (b) is removed
by 1Wnw giving 7¥°o1 to 7n7 thereby removing her as a 7pIp7 to M2 (this we really knew from the Xw1 [see footnote #
12]).

10° After 'wnw was 5nn v9m, then X% cannot be PPt M, for 2nn is no longer p1pT to M (certainly not if 917 was
s'7x wife. And) even if she was s'12187 wife, she already received n%°%n from Nwnw.

11 See footnote # 4.

12 The Xw™ of the Xn»12 stated that if each deceased brother (72187 and 72) had only one brother (1waw for 12387 and
qwx for 73), the rule is that each of them Nw»w and WK must give 7%°91 to both of them (7871 117), and neither can be
02n after one was y211. The reason is if TWX gave 7¥°71 to 78?1 77 and 1waw wants to be RS 02, there is the
concern that 9n7 was the wife of 1211 and is appr to wnw (and the 7¥°%n that 911 received from WX is
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For this we know from the N@»-.

SUMMARY
The X7 (of one brother each), teaches us how to avoid the Mo X of WNPIPT NINR,
while the X9°0 teaches us how to avoid the M0°X of PIW? 712°.

THINKING IT OVER

Why cannot we say that the phrase, "m2° 971 voron X171 is referring to both sets
of n¥*»n (the two mx°7n performed by WX [to remove the M0°R of PWY nn2°] and
the single n¥*5n performed by 1ynw [to remove the 0K of NPT NMnk]). The Xaa
included both of them in one phrase (even though we know the second 77%°%17 [of
1¥nw] from the Xw7), since he is not adding anything extra?

meaningless), so now if N were to marry X2 (who was s'7x wife) he is marrying WPt nink (which is 2n7), and
this is forbidden 712771, So we are already aware of the issue of PPt NMnK, therefore we need to assume that the
phrase 02»n 3771 v2°n XP17 is referring to the first two mx°on of WK, regarding the issue of P n2>. See ‘Thinking
it over’.
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